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Evaluate each expression.

1) 2 + 1 0 2 ( 9 + 1 0 )

2 + 1 0
2 × ( 1 9 )

2 + 1 0 0 × 1 9

2 + 1 9 0 0
1 9 0 2

2) 6 ( 2 + 1 3 - 9 ) + 1 5 - 1 0

6 × ( 1 5 - 9 ) + 1 5 - 1 0

6 × ( 6 ) + 1 5 - 1 0

3 6 + 1 5 - 1 0

5 1 - 1 0

4 1

3) 9 ( 5 + 1 4 ÷ 2 ) + 8 2

9 × ( 5 + 7 ) + 8 2

9 × ( 1 2 ) + 8 2

9 × 1 2 + 6 4
1 0 8 + 6 4

1 7 2

4) 9 + 1 0 ( 1 4 - 8 + 4 )

9 + 1 0 × ( 6 + 4 )

9 + 1 0 × ( 1 0 )

9 + 1 0 0
1 0 9

5) 9 + 5 0 ÷ 1 0 ( 3 + 9 - 4 )

9 + 5 0 ÷ 1 0 × ( 1 2 - 4 )

9 + 5 0 ÷ 1 0 × ( 8 )

9 + 5 × 8

9 + 4 0
4 9

6) 6 + 2 8 ÷ 4 ( 4 + 1 4 - 6 )

6 + 2 8 ÷ 4 × ( 1 8 - 6 )

6 + 2 8 ÷ 4 × ( 1 2 )

6 + 7 × 1 2

6 + 8 4
9 0

7) ( 7 × 8 ) + 4 ÷ 2 + 3 0 ÷ 3

( 5 6 ) + 4 ÷ 2 + 3 0 ÷ 3

5 6 + 2 + 3 0 ÷ 3

5 6 + 2 + 1 0
5 8 + 1 0

6 8

8) ( 4 + 8 ) + 1 6 - 9 + 2 4 ÷ 6

( 1 2 ) + 1 6 - 9 + 2 4 ÷ 6

1 2 + 1 6 - 9 + 4
2 8 - 9 + 4

1 9 + 4

2 3

9) ( 5 + 4 3 ) + 5 6 ÷ 7 × 7

( 5 + 6 4 ) + 5 6 ÷ 7 × 7

( 6 9 ) + 5 6 ÷ 7 × 7

6 9 + 8 × 7

6 9 + 5 6
1 2 5

10) ( 2 + 8 ) + 1 0 2 + 6 0 ÷ 1 0

( 1 0 ) + 1 0 2 + 6 0 ÷ 1 0

1 0 + 1 0 0 + 6 0 ÷ 1 0

1 0 + 1 0 0 + 6
1 1 0 + 6

1 1 6

Answers

1. 1,902

2. 41

3. 172

4. 109

5. 49

6. 90

7. 68

8. 23

9. 125

10. 116
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Evaluate each expression.

1) 2 + 1 0 2 ( 9 + 1 0 )

2 + 1 0
2 × ( 1 9 )

2 + 1 0 0 × 1 9

2 + 1 9 0 0
1 9 0 2

2) 6 ( 2 + 1 3 - 9 ) + 1 5 - 1 0

6 × ( 1 5 - 9 ) + 1 5 - 1 0

6 × ( 6 ) + 1 5 - 1 0

3 6 + 1 5 - 1 0

5 1 - 1 0

4 1

3) 9 ( 5 + 1 4 ÷ 2 ) + 8 2

9 × ( 5 + 7 ) + 8 2

9 × ( 1 2 ) + 8 2

9 × 1 2 + 6 4
1 0 8 + 6 4

1 7 2

4) 9 + 1 0 ( 1 4 - 8 + 4 )

9 + 1 0 × ( 6 + 4 )

9 + 1 0 × ( 1 0 )

9 + 1 0 0
1 0 9

5) 9 + 5 0 ÷ 1 0 ( 3 + 9 - 4 )

9 + 5 0 ÷ 1 0 × ( 1 2 - 4 )

9 + 5 0 ÷ 1 0 × ( 8 )

9 + 5 × 8

9 + 4 0
4 9

6) 6 + 2 8 ÷ 4 ( 4 + 1 4 - 6 )

6 + 2 8 ÷ 4 × ( 1 8 - 6 )

6 + 2 8 ÷ 4 × ( 1 2 )

6 + 7 × 1 2

6 + 8 4
9 0

7) ( 7 × 8 ) + 4 ÷ 2 + 3 0 ÷ 3

( 5 6 ) + 4 ÷ 2 + 3 0 ÷ 3

5 6 + 2 + 3 0 ÷ 3

5 6 + 2 + 1 0
5 8 + 1 0

6 8

8) ( 4 + 8 ) + 1 6 - 9 + 2 4 ÷ 6

( 1 2 ) + 1 6 - 9 + 2 4 ÷ 6

1 2 + 1 6 - 9 + 4
2 8 - 9 + 4

1 9 + 4

2 3

9) ( 5 + 4 3 ) + 5 6 ÷ 7 × 7

( 5 + 6 4 ) + 5 6 ÷ 7 × 7

( 6 9 ) + 5 6 ÷ 7 × 7

6 9 + 8 × 7

6 9 + 5 6
1 2 5

10) ( 2 + 8 ) + 1 0 2 + 6 0 ÷ 1 0

( 1 0 ) + 1 0 2 + 6 0 ÷ 1 0

1 0 + 1 0 0 + 6 0 ÷ 1 0

1 0 + 1 0 0 + 6
1 1 0 + 6

1 1 6

Answers

1. 1,902

2. 41

3. 172

4. 109

5. 49

6. 90

7. 68

8. 23

9. 125

10. 116
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Evaluate each expression.

90 23 1,902 172

109 68 41 49

1) 2 + 1 0 2 ( 9 + 1 0 )

2 + 1 0
2 × ( 1 9 )

2 + 1 0 0 × 1 9

2 + 1 9 0 0
1 9 0 2

2) 6 ( 2 + 1 3 - 9 ) + 1 5 - 1 0

6 × ( 1 5 - 9 ) + 1 5 - 1 0

6 × ( 6 ) + 1 5 - 1 0

3 6 + 1 5 - 1 0

5 1 - 1 0

4 1

3) 9 ( 5 + 1 4 ÷ 2 ) + 8 2

9 × ( 5 + 7 ) + 8 2

9 × ( 1 2 ) + 8 2

9 × 1 2 + 6 4
1 0 8 + 6 4

1 7 2

4) 9 + 1 0 ( 1 4 - 8 + 4 )

9 + 1 0 × ( 6 + 4 )

9 + 1 0 × ( 1 0 )

9 + 1 0 0
1 0 9

5) 9 + 5 0 ÷ 1 0 ( 3 + 9 - 4 )

9 + 5 0 ÷ 1 0 × ( 1 2 - 4 )

9 + 5 0 ÷ 1 0 × ( 8 )

9 + 5 × 8

9 + 4 0
4 9

6) 6 + 2 8 ÷ 4 ( 4 + 1 4 - 6 )

6 + 2 8 ÷ 4 × ( 1 8 - 6 )

6 + 2 8 ÷ 4 × ( 1 2 )

6 + 7 × 1 2

6 + 8 4
9 0

7) ( 7 × 8 ) + 4 ÷ 2 + 3 0 ÷ 3

( 5 6 ) + 4 ÷ 2 + 3 0 ÷ 3

5 6 + 2 + 3 0 ÷ 3

5 6 + 2 + 1 0
5 8 + 1 0

6 8

8) ( 4 + 8 ) + 1 6 - 9 + 2 4 ÷ 6

( 1 2 ) + 1 6 - 9 + 2 4 ÷ 6

1 2 + 1 6 - 9 + 4
2 8 - 9 + 4

1 9 + 4

2 3

Answers

1. 1,902

2. 41

3. 172

4. 109

5. 49

6. 90

7. 68

8. 23

1-8 88 75 63 50 38 25 13 0
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